Multiply and Divide by 10 (C)

Find each product or quotient.

95 x 10 = 92 +10 =
32 x10 = 50+ 10 =
26 +~10 = 29 x 10 =
77 - 10 = 66 - 10 =
73 x 10 = 52 x 10 =
37 X 10 = 46 X 10 =
13 x10= 63 X 10 =
71+ 10 = 65+ 10 =
63+ 10 = 47 X 10 =
88 X 10 = 47 x 10 =
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Multiply and Divide by 10 (C) Answers

95 x 10 =950

32 x10=320

26 +-10=2.6

77 +-10=7.7

73 xX10=730

37 x10=370

13 x10=130

71+-10=7.1

63 +10=6.3

88 x 10 =880

Find each product or quotient.

92 +-10=9.2

50+-10=5

29 X 10 =290

66 +-10=06.6

52 X 10 =520

46 X 10 =460

63 X 10=630

65+10=6.5

47 x 10 =470

47 x 10 =470
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